
MATH 125 College Algebra      Name___________________________ 

Logarithmic Functions are inverse functions of an exponential function thus   
( )    and   ( ) log ( )x
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  Note:  0  1b and b   

- They are continuous functions over (0, )  

- They are One – to – One Functions 

- Domain:  (0, )  All real Numbers greater than Zero 

- Range:  ( , )−   All Real Numbers 

- Increasing function if 1b   

- Decreasing function if 0 1b   

- As 0x +→ the y-axis is a vertical asymptote for the graph of the function. 

- The graph of the function has an x-intercept:  (1, 0) 

- The graph of the function does not have a y-intercept. 

Key points of the graph also include:  
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